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Question 1 5 marks

The following diagram shows a byte transmitted over an RS-232 serial interface with 8 bits per
character, one parity bit and one stop bit:
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(a) What is the bit rate?
(b) What is the value of the character transmitted, in hexadecimal?
(c) What character was transmitted (give the letter, number or symbol)?

(d) Assuming there were no errors, was even or odd parity used?

Question 2 4 marks

The Unicode codepoint for the Alarm CLock ( {2 ) Emoji is U+23F6.
(a) How many bytes are required for a UTF-8 encoding of this character?
(b) What are the values of those bytes? Give your answer in hexadecimal.

Show your work.
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Question 1 5 marks

The following diagram shows a byte transmitted over an RS-232 serial interface with 7 bits per
character, one parity bit and one stop bit:
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(a) What is the bit rate?
(b) What is the value of the character transmitted, in hexadecimal?
(c) What character was transmitted (give the letter, number or symbol)?

(d) Assuming there were no errors, was even or odd parity used?

Question 2 4 marks

The Unicode codepoint for the White Smiling Face (@) Emoji is U+263A.
(a) How many bytes are required for a UTF-8 encoding of this character?
(b) What are the values of those bytes? Give your answer in hexadecimal.

Show your work.
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